Psychology Sample Questions Paper

FYBA Psychology Paper-1 Fundamentals of Psychology

Type MCQ

Q1. was founder of structuralism. (1)

ERSLIEIHE R DI EE A

**Edward Tichner/ Tga€ S=<

William James/ farerare s/

Charles Darwin/ JTei| ST

Mary Whinton Kalkins/ #¥t sg1a sTe{shed

HwnE

Q2. Each action potential takes about of a second for generation. (2)
ArerTef e TR AT 93 groaTaTsl A AT

**One Thousand/ H=haT=T SSTTITET AR

One hundredth/ HhaTHT TATTAT AT

One tenth/ HeRaT=T SRTET A

One fiftieth/ HhaT=T THTETAT 9T

Mwn e

Q3. was the first female psychologist having Ph.D. degree. (1)

7 U= 1. FEAT TeedT Aigar AFaTEs giear.

**Margaret Floy/ ITRTTEE =T
Margaret Mead/ ATRTIe Hie
Karen Harney/ &Y= i

Mary Calkins/ 3t #hfcfeq

HowDd e

Q4. Pavlov proposed learning related theory called. (3)
JaAd AT ATIATAT BT TG HIST
1. **Classical Conditioning / sTfrsTar sfarerem=
2. Innovative/ Tf9=a
3. Instrumental/ FTg+
4. Trial and Error/ 9@ 99T

Q5. Memory is a (4)

T Er



**Process/ TTeHAT 3L
Structure/ T=T g
Aptitude/ sTfrerwaT smg

None of these/ ZITa=T FHIVTdaT ATET

Q6. One of the most complex and highest forms of human behaviour is (5)
HIAAT FAATAT Ueh HATd ST AT IF TRTE FZUTST
1. **thinking/ fa=m<
sleeping/ =19
eating/ @ToT
fighting/ \tTeor

owbde

P own

Q7. According to William McDougal, jealousy is (6)
e dehgarer F=a1 A, goEe R U

An emotion/ ATAAT 3Tg

A Need/ TF LT 3.

**An Instinct/ ITSTd YT TS,
Behavior/ ad 3rg

=

o

Q8. Maslow believed that satisfaction of the needs that leads to feelings of integrity are (6)
HeAT FT=T ST oA Frar o ST TST=AT ARG URTeHa Al ATaAT ST g AT TSy
1. **transcendence needs/ IcH AT TLST
2. social needs/ ST TEST
3. aesthetic/ HTZATIATTH TS
4. safety needs/ H&AT Faweh T=IT

Q9. At what developmental stage under gratification of needs results in aggressive pessimistic
personality traits? (7)
HATA R [ARTETAT HIVICAT S THEY ST I =37 HHTETATITEA 9T d o d ATged | A=A
ATHHE-HTATATT S RAE 07 (ST Iara?

1. Oral Stage/ HETa#AT

2. Anal Stage/ [aTa=AT

3. Phallic Stage/ fersrraeaT

4. Genital Stage/ 3T sra=T

Q10. What is the median of the following set of scores? (8)
8,16, 12,9, 10?
& TTHTR SATHT HET T 37752
€,2%,2R,%,20
1. 10/¢0
2. 14/%%




3. 18/2¢
4. **12/93



